%% Summary

% HIERIZS 746D, YAWE AA0IL(0/1), 2LaI0I([0,11At0] &%) S2
ijl.ol-

% ARIX /G REHE DH2A ANEOZ WILN UD

% AXOF BXE REE L0 MEC O RGN ECH NECE HEXOZ MA s

%% Init
clc;clear;close all;

addpath("../Z-common");
%% System Param

» d8HeE s NEE ot?l CHEEL

subdir = 'save/';

% AlLIZI2 1D e+ X_Y_Z_AAAA

% X : N_NODE_PER_ROW/COL £ 20|

% Y : DELAY_MAX £ <|0I(DELAY_MIN=0 22 1DH)
% Z MEC g d 2HE

% AAAA ; H o2

i

St
=
=0 =AHS

% scenario_id = '4.1.0_0.3_.0001"; % ILP/LR subopt &I&Z AlLI2IL
%scenario_id = '5.1.0_.0.3.0001'; % &2 UHE<®3 A2
scenario_id = '"10_1.0_0.3_0001"; % Large HERZ2 A&

0#0

strings = split(scenario_id, '_');

% WEKIN & 2o A2X/2RE2 AXE HEX. ..

% MEC/ASIXI/2IREH SSES 24 gHEilzg HZD 0 ATt JHSE

% NODE = MEC/ARIXI/etREH & 2FE 20|

% int32 2 IHAE oFAl 2! OFeHUHIA floor HMUHA 2FYE

N_NODE_PER_ROW = str2double(strings(1)); % otLI2l SOl LIl ==I} BiXIE X
N_NODE_PER_COL = N_NODE_PER_ROW; % otLt2l Sdl... A2 SEHE JtE
N_NODE = N_NODE_PER_ROW = N_NODE_PER_COL; % &X =& =

% 23 Z2dI0IE HEH AFEA.. . Uniform distribution = JI&
DELAY_MIN = 0.0; % O|24 HFRXl ZX}...



=" S

DELAY_MAX = str2double(strings(2))
% MEC MY =S
mec_gen_prob = str2double(strings(3))
% DESE ASGIH i Y0l MHASZ =0, el 018 JiEg &3
out_filename = scenario_id; % M&E LY 0|52 Jl=gi=s &8
EH2 txt OO0l &
"l 8 LILdE
ot |
'otxt')s

% EHOIE =22 9 AE &
% "arguments must contain a char vect
}L D% Ei!ﬁé% Illlj} O}Ll IIE /\}
, out_filename,

% II2HE=2 24
diary_filename = strcat(subdir
if( isfile(diary_filename) )

delete(diary_filename);
% AlZH
matlab 2 graph =& & 12|J|

end
diary(diary_filename)
ot= 1,

Adjacency Matrix
Jl: adj(0/1) + link delay

%% Part 1.
% Q& DS
adj = zeros(N_NODE, N_NODE);
% L0l gt0| =Dt=l oldaid ots
adjDelay = zeros(N_NODE, N_NODE)
for node=1:1:N_NODE
%fprintf("Node : %d#n", node); % CItH&
% 28 CEE JIECZE ANAIQ F o0 AZGHH T &0
% 1. = L= A&
right_node = nodetl; % = &9 B3
if( right_node <= N_NODE && rem(node, N_NODE_PER_ROW) > 0 )
% &2 H&O|CH.
right_node) = 1;
node) = 1;

adj (node,
adj (right_node
% random delay =J}
d = (DELAY_MAX-DELAY_MIN)=*rand()+DELAY_MIN



adjDelay(node, right_node) = 1 + d;
adjDelay(right_node, node) = 1 + d;
end

% 2. OtefZE =& A&

lower_node = node + N_NODE_PER_ROW;

if( lower_node <= N_.NODE ) % R&8t ==0|H HZ&
% olEHEE2 CHEOILCH.
adj(node, lower_node) = 1;
adj (lower_node, node) = 1;

% random delay Z=Jt
d = (DELAY_MAX-DELAY_MIN)*rand()+DELAY_MIN;
adjDelay(node, lower_node) = 1 + d;
adjDelay(lower_node, node) = 1 + d;
end
end

% Network 2cHA 284 MM

netw = Network(adj, adjDelay);

% e 24 M4

% https://www.mathworks.com/help/matlab/ref/graph.html
%G = graph(adj);

G = netw.getGraph();

%Gdelay = graph(adjDelay):

Gdelay = netw.getGraphPlusDelay();

% matlab 2l 1eHZE O|ZoHAM 21EHS
f1 = figure;

plot(G, 'Layout', 'auto');

set(gca, 'XTick', [1):

set(gca, 'YTick', [1):

% Jemedz2 &

saveas(f1, strcat(subdir, out_filename, "-graph.png")):
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% shortest path A& & X &
% https://www.mathworks.com/help/matlab/ref/graph.distances.html



%fprintf("Calc shortest path with adj matrix.#n");
%distanceMatrix = distances(G);

% edge Ol weight 2 =0}
% U A adj mat BH=SM F=ItotH =7 undirected LIE, &S

:
% 'positive’ & F=9 weighted graph OIME ZIEtHE| HAE £ U

%fprintf("Calc shortest path with adj+delay matrix.Wn");
%distanceDelayMatrix = distances(Gdelay, 'Method', 'positive');

% Part 2. HHZO0 2XNE cld, Eotes X0 MEC E BHXIGH=

% 2 X
% AMHIAE H

= 25 R0l= switch/router JF JUCHD JIE
=0l= active 8 MEC BF 2 X0l EA|

horizontal_spacing = 1; % plot M2 =
vertical_spacing = 1; % plot HIM2 ==& 2t
%N_NODE_PER_COL = N_NODE_PER_COL;
%N_NODE_PER_ROW = N_NODE_PER_ROW;

margin_gap = 0.5; % 1&g M Y FIIs

mec_id = [];
total_mec_count = 0;
for i=1:1:N_NODE
if( rand < mec_gen_prob )
% MECE EEXHOZ MY
mec_id(end+1) = i;
total_mec_count = total_mec_count + 1;
end
end

mec_num = size(mec_id,2); % MEC JH=z= EtQl

% &3

assert(mec_num == total_mec_count);

clear mec_num

assert(total_mec_count <= N_NODE);

for i=1:1:total_mec_count
assert(mec_id(i) <= N_NODE);

=1a=x
(el — )



end

% MEC ScliA AUAEHA S A
% ScHACl HIE BHSDl 0 &t
mecs = MEC.empty(total_mec_count,
for i=1:1:total_mec_count

mecs(i) = MEC(mec_id(i));
end

% 3HHO MEC 20|
% MEC2| HMEE HEEAZ N& : mec_info(mec 1D, mec x, mec vy)
N_.DIM = 3; % mec_ind, mec_x, mec_y

MEC_ID_IND = 1;
MEC_X_IND = 2;
MEC_Y_IND = 3;

mec_info = zeros(total_mec_count, N_DIM);

for i=1:1:total_mec_count

% HEGOHH MASH mec_id et= OI=ZoHAM,

% MEC 2] BE(x,y)E mec_info Ol M &35t

mec = mec_id(i);

mec_info(i,MEC_ID_IND) = mec:

% GRID Ol Al &M mec O SHEA HEZE H&

mec_row = floor (mec/N_NODE_PER_ROW);

mec_col = mod(mec, N_NODE_PER_ROW);

if( mec_col == 10 )

mec_col = N_NODE_PER_ROW;
mec_row = mec_row-1;

end

forintf("%d %d %dWn", mec, mec_row, mec_col);

% GRId Ol &M mec O XI2IE (plot) XEE A&
mec_x = (mec_col) * horizontal_spacing;
mec_y = (mec_row) * vertical_spacing;

% Plot MEsS M
(
(

mec_info(i,MEC_X_IND) = mec_x;
mec_info(i,MEC_Y_IND) = mec_y;
end



% 15222 2l

f2 = figure;

ax = gca;

scatter (mec_info(:,MEC_X_IND), mec_info(:,MEC_Y_IND)):
x1im([0+0.5, N_NODE_PER_ROW+0.5]):
ylim([0-0.5, N_NODE_PER_COL-0.5]);
xticks([1:1:N_NODE_PER_ROW]):
xticklabels({});
yticks([0:1:N_NODE_PER_COL-1]):
yticklabels({}):

%xlabel ('x coordinate index'):

%y label('y coordinate index'):

grid on;

ax.GridAlpha = 1; % Grid line 2 &&3d =S %5t
ax.GridColor = [0 0 0] % &2

box off;

set(gca, 'XColor', 'none');
set(gca, 'YColor', 'none');

% plot OllA text =& [, JIAE S =0/ text & HHE &2t 0l=

text_print_gapX = 0.07;

text_print_gapY = 0.17;

for i=1:1:total_mec_count
text(mec_info(i,MEC_X_IND)+text_print_gapX, mec_info(i,

MEC_Y_IND)+text_print_gapY, string(mec_info(i,MEC_ID_IND)));

end

%» J8nds M&E

set(gcf, 'renderer ', 'painters');

%set (gcf, '‘renderer', 'opengl'):

saveas(f2, strcat(subdir, out_filename, "-grid.png"));
saveas(f2, strcat(subdir, out_filename, "-grid.pdf"));
saveas(f2, strcat(subdir, out_filename, "-grid.eps"));

forintf("MEC ID | MEC_X | MEC_Y : #Wn"):
for i=1:1:total_mec_count

forintf("%d | %d | %d#n", mec_info(i,MEC_ID_IND), mec_info(i,MEC_X_IND),
mec_info(i ,MEC_Y_IND));



end

%% Finalizing
forintf("Diary... offin");
diary off % txt IOl EHOIE
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forintf("Saving to %s.matin",
% figure handle 2 M&E S
clear fi

clear f2

clear adj

clear adjDelay

clear d

clear i

clear lower_node

clear mec

clear mec_col

clear mec_id

clear mec_row

clear mec_x

clear mec_y

clear node

clear right_node

clear G

clear Gdelay
save(strcat(subdir, out_filename, ".mat"))
JSES)
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; % workspace 2| ™

out_filename); % mat T 0l GIOIH M&

%0l XHXAGtE2Z mat It S0l ArHE

£ mat It =2



